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Les mesures d’aires

Ton ami Gus te propose de convertir les mesures d'aires suivantes

A 12,5 kM2 = e, dam?
222,06 MM? = ., cm?
6,5 CM2 = e, m 2
30,4 hm? = .. km?2
#  145,5 hm? = .. dam?
753,1 mm? = .. dm?
A 60,1 dm2 = e, mm 2
423,4 cm? = . dm?
# 351 dam? = .o, m?
123,5 m? = . hm?
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CORRECTION

Les mesures d’aires

# 12,5 km? = 125000 dam?

& 222,6 mm? = 2,226 cm?

# 6,5 cm? = 0,00065 m?

# 30,4 hm? = 0,304 km?

# 145,5 hm? 14550 dam?
# 753,1 mm?2 = 0,07531 dm?
# 60,1 dm? = 60100 mm?
& 423,4 cm? = 4,234 dm?

# 351 dam? = 35100 m?

# 123,5 m? = 0,01235 hm?
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